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PH: PHYSICS 
 
Dυρατιον: Τηρεε Ηουρσ        Μαξιmυm Μαρκσ:100 
 
Πλεασε ρεαδ τηε φολλοωινγ ινστρυχτιονσ χαρεφυλλψ: 
 

General Instructions: 
 

1. Τοταλ δυρατιον οφ εξαmινατιον ισ 180 mινυτεσ (3 ηουρσ).  
 

2. Τηε χλοχκ ωιλλ βε σετ ατ τηε σερϖερ.  Τηε χουντδοων τιmερ ιν τηε τοπ ριγητ χορνερ οφ σχρεεν ωιλλ δισπλαψ 
τηε ρεmαινινγ τιmε αϖαιλαβλε φορ ψου το χοmπλετε τηε εξαmινατιον. Wηεν τηε τιmερ ρεαχηεσ ζερο, τηε 
εξαmινατιον ωιλλ ενδ βψ ιτσελφ. Ψου ωιλλ νοτ βε ρεθυιρεδ το ενδ ορ συβmιτ ψουρ εξαmινατιον.  

 
3. Τηε Θυεστιον Παλεττε δισπλαψεδ ον τηε ριγητ σιδε οφ σχρεεν ωιλλ σηοω τηε στατυσ οφ εαχη θυεστιον υσινγ 

ονε οφ τηε φολλοωινγ σψmβολσ:  

  

 
Ψου ηαϖε νοτ ϖισιτεδ τηε θυεστιον ψετ. 

 
Ψου ηαϖε νοτ ανσωερεδ τηε θυεστιον. 

 
Ψου ηαϖε ανσωερεδ τηε θυεστιον.  

 

Ψου ηαϖε ΝΟΤ ανσωερεδ τηε θυεστιον, βυτ ηαϖε mαρκεδ τηε 
θυεστιον φορ ρεϖιεω. 

 
Ψου ηαϖε ανσωερεδ τηε θυεστιον, βυτ mαρκεδ ιτ φορ ρεϖιεω.  

 
Τηε Μαρκεδ φορ Ρεϖιεω στατυσ φορ α θυεστιον σιmπλψ ινδιχατεσ τηατ ψου ωουλδ λικε το λοοκ ατ τηατ 
θυεστιον αγαιν. Ιφ α θυεστιον ισ ανσωερεδ ανδ  Μαρκεδ φορ Ρεϖιεω, ψουρ ανσωερ φορ τηατ θυεστιον 

ωιλλ βε χονσιδερεδ ιν τηε εϖαλυατιον. 
 
Navigating to a Question 

 
4. Το ανσωερ α θυεστιον, δο τηε φολλοωινγ: 

α. Χλιχκ ον τηε θυεστιον νυmβερ ιν τηε Θυεστιον Παλεττε το γο το τηατ θυεστιον διρεχτλψ.  
β. Σελεχτ αν ανσωερ φορ α mυλτιπλε χηοιχε τψπε θυεστιον. Υσε τηε ϖιρτυαλ νυmεριχ κεψπαδ το εντερ 

α νυmβερ ασ ανσωερ φορ α νυmεριχαλ τψπε θυεστιον.  
χ. Χλιχκ ον Save and Next το σαϖε ψουρ ανσωερ φορ τηε χυρρεντ θυεστιον ανδ τηεν γο το τηε νεξτ 

θυεστιον.  
δ. Χλιχκ ον Mark for Review and Next το σαϖε ψουρ ανσωερ φορ τηε  χυρρεντ θυεστιον, mαρκ ιτ 

φορ ρεϖιεω, ανδ τηεν γο το τηε νεξτ θυεστιον. 
e. Caution: Note that your answer for the current question will not be saved, if you 

navigate to another question directly by clicking on its question number.  

 

5. Ψου χαν ϖιεω αλλ τηε θυεστιονσ βψ χλιχκινγ ον τηε Question Paper βυττον. Νοτε τηατ τηε οπτιονσ φορ 
mυλτιπλε χηοιχε τψπε θυεστιονσ ωιλλ νοτ βε σηοων.  
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Answering a Question 

 

6. Προχεδυρε φορ ανσωερινγ α mυλτιπλε χηοιχε τψπε θυεστιον: 
α. Το σελεχτ ψουρ ανσωερ, χλιχκ ον τηε βυττον οφ ονε οφ  τηε οπτιονσ 
β. Το δεσελεχτ ψουρ χηοσεν ανσωερ, χλιχκ ον τηε βυττον οφ τηε χηοσεν οπτιον αγαιν ορ χλιχκ ον τηε 

Clear Response βυττον  
χ. Το χηανγε ψουρ χηοσεν ανσωερ, χλιχκ ον τηε βυττον οφ  ανοτηερ οπτιον 
δ. Το σαϖε ψουρ ανσωερ, ψου ΜΥΣΤ χλιχκ ον τηε Save and Next βυττον 
ε. Το mαρκ τηε θυεστιον φορ ρεϖιεω, χλιχκ ον τηε Mark for Review and Next βυττον. Ιφ αν 

ανσωερ ισ σελεχτεδ φορ α θυεστιον τηατ ισ Μαρκεδ φορ Ρεϖιεω, τηατ ανσωερ ωιλλ βε χονσιδερεδ 

ιν τηε εϖαλυατιον. 
 

7. Προχεδυρε φορ ανσωερινγ α νυmεριχαλ ανσωερ τψπε θυεστιον: 
α. Το εντερ α νυmβερ ασ ψουρ ανσωερ, υσε τηε ϖιρτυαλ νυmεριχαλ κεψπαδ 
β. Α φραχτιον (εγ.,−0.3 ορ −.3) χαν βε εντερεδ ασ αν ανσωερ ωιτη ορ ωιτηουτ �0� βεφορε τηε δεχιmαλ 

ποιντ 
χ. Το χλεαρ ψουρ ανσωερ, χλιχκ ον τηε Clear Response βυττον 
δ. Το σαϖε ψουρ ανσωερ, ψου ΜΥΣΤ χλιχκ ον τηε Save and Next βυττον 
ε. Το mαρκ τηε θυεστιον φορ ρεϖιεω, χλιχκ ον τηε Mark for Review and Next βυττον. Ιφ αν 

ανσωερ ισ εντερεδ φορ α θυεστιον τηατ ισ Μαρκεδ φορ Ρεϖιεω, τηατ ανσωερ ωιλλ βε χονσιδερεδ 

ιν τηε εϖαλυατιον. 
 

8. Το χηανγε ψουρ ανσωερ το α θυεστιον τηατ ηασ αλρεαδψ βεεν ανσωερεδ, φιρστ σελεχτ τηατ θυεστιον φορ 
ανσωερινγ ανδ τηεν φολλοω τηε προχεδυρε φορ ανσωερινγ τηατ τψπε οφ θυεστιον.  

 
9. Νοτε τηατ ΟΝΛΨ Θυεστιονσ φορ ωηιχη ανσωερσ  αρε σαϖεδ ορ mαρκεδ φορ ρεϖιεω αφτερ ανσωερινγ ωιλλ βε 

χονσιδερεδ φορ εϖαλυατιον. 
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Paper specific instructions: 

 

 
1. Τηερε αρε α τοταλ οφ 65 θυεστιονσ χαρρψινγ 100 mαρκσ.Θυεστιονσ αρε οφ mυλτιπλε χηοιχε τψπε ορ 

νυmεριχαλ ανσωερ τψπε. Α mυλτιπλε χηοιχε τψπε θυεστιον ωιλλ ηαϖε φουρ χηοιχεσ φορ τηε ανσωερ ωιτη 
ονλψ one χορρεχτ χηοιχε. Φορ νυmεριχαλ ανσωερ τψπε θυεστιονσ, τηε ανσωερ ισ α νυmβερ ανδ νο χηοιχεσ 
ωιλλ βε γιϖεν. A number as the answer should be entered υσινγ τηε ϖιρτυαλ κεψβοαρδ ον τηε mονιτορ. 
 

2. Θυεστιονσ Θ.1 � Θ.25 χαρρψ 1mαρκ εαχη. Θυεστιονσ Θ.26 � Θ.55 χαρρψ 2mαρκσ εαχη. Τηε 2mαρκσ 
θυεστιονσ ινχλυδε τωο παιρσ οφ χοmmον δατα θυεστιονσ ανδ τωο παιρσ οφ λινκεδ ανσωερ θυεστιονσ. Τηε 
ανσωερ το τηε σεχονδ θυεστιον οφ τηε λινκεδ ανσωερ θυεστιονσ δεπενδσ ον τηε ανσωερ το τηε φιρστ 
θυεστιον οφ τηε παιρ. Ιφ τηε φιρστ θυεστιον ιν τηε λινκεδ παιρ ισ ωρονγλψ ανσωερεδ ορ ισ νοτ αττεmπτεδ, 
τηεν τηε ανσωερ το τηε σεχονδ θυεστιον ιν τηε παιρ ωιλλ νοτ βε εϖαλυατεδ. 

 

3. Θυεστιονσ Θ.56 � Θ.65 βελονγ το Γενεραλ Απτιτυδε (ΓΑ) σεχτιον ανδ χαρρψ α τοταλ οφ 15 mαρκσ. 
Θυεστιονσ Θ.56 � Θ.60 χαρρψ 1mαρκ εαχη, ανδ θυεστιονσ Θ.61 � Θ.65 χαρρψ 2mαρκσ εαχη.   
 

4. Θυεστιονσ νοτ αττεmπτεδ ωιλλ ρεσυλτ ιν ζερο mαρκ. Wρονγ ανσωερσ φορ mυλτιπλε χηοιχε τψπε θυεστιονσ 
ωιλλ ρεσυλτ ιν NEGATIVE mαρκσ.  Φορ αλλ 1 mαρκ θυεστιονσ, Å mαρκ ωιλλ βε δεδυχτεδ φορ εαχη ωρονγ 
ανσωερ. Φορ αλλ 2 mαρκσ θυεστιονσ, ‰ mαρκ ωιλλ βε δεδυχτεδ φορ εαχη ωρονγ ανσωερ.  Ηοωεϖερ, ιν τηε 
χασε οφ τηε λινκεδ ανσωερ θυεστιον παιρ, τηερε ωιλλ βε νεγατιϖε mαρκσ ονλψ φορ ωρονγ ανσωερ το τηε 
φιρστ θυεστιον ανδ νο νεγατιϖε mαρκσ φορ ωρονγ ανσωερ το τηε σεχονδ θυεστιον. Τηερε ισ νο νεγατιϖε 
mαρκινγ φορ θυεστιονσ οφ νυmεριχαλ ανσωερ τψπε. 
 

5. Χαλχυλατορ ισ αλλοωεδ. Χηαρτσ, γραπη σηεετσ ορ ταβλεσ αρε NOT αλλοωεδ ιν τηε εξαmινατιον ηαλλ.  
 

6. Dο τηε ρουγη ωορκ ιν τηε Σχριββλε Παδ προϖιδεδ. 
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Q. 1 – Q. 25 carry one mark each. 

 
Θ.1 φ (ξ) ισ α σψmmετριχ περιοδιχ φυνχτιον οφ ξ ι.ε. φ (ξ) = φ (ξ). Τηεν, ιν γενεραλ, τηε Φουριερ σεριεσ οφ 

τηε φυνχτιον φ(ξ) ωιλλ βε οφ τηε φορm 

(Α)	݂ሺݔሻ ൌ ෌ ሺܽ௡ cosሺ݊݇ݔሻ ൅ ܾ௡ sinሺ݊݇ݔሻሻ∞௡ୀଵ  

(Β)	݂ሺݔሻ ൌ ܽ଴ + ෌ ሺܽ௡ cosሺ݊݇ݔሻሻ∞௡ୀଵ  

(Χ)	݂ሺݔሻ ൌ ෌ ሺܾ௡ sinሺ݊݇ݔሻሻ∞௡ୀଵ  

(D)	݂ሺݔሻ ൌ ܽ଴ + ෌ ሺܾ௡ sinሺ݊݇ݔሻሻ∞௡ୀଵ  

 
Θ.2 Ιν τηε mοστ γενεραλ χασε, ωηιχη ονε οφ τηε φολλοωινγ θυαντιτιεσ ισ ΝΟΤ α σεχονδ ορδερ τενσορ? 

(Α) Στρεσσ (Β) Στραιν 
(Χ) Μοmεντ οφ ινερτια (D) Πρεσσυρε 

 
Θ.3 Αν ελεχτρον ισ mοϖινγ ωιτη α ϖελοχιτψ οφ 0.85χ ιν τηε σαmε διρεχτιον ασ τηατ οφ α mοϖινγ πηοτον. 

Τηε ρελατιϖε ϖελοχιτψ οφ τηε ελεχτρον ωιτη ρεσπεχτ το πηοτον ισ 

(Α) χ (Β) χ (Χ) 0.15χ  (D) 0.15χ  
 
Θ.4 Ιφ Πλανχκ∋σ χονσταντ ωερε ζερο, τηεν τηε τοταλ ενεργψ χονταινεδ ιν α βοξ φιλλεδ ωιτη ραδιατιον οφ αλλ 

φρεθυενχιεσ ατ τεmπερατυρε Τ ωουλδ βε ( κ ισ τηε Βολτζmανν χονσταντ ανδ Τ ισ νονζερο)  

(Α) Ζερο (Β) Ινφινιτε (Χ) 
ଷଶ ݇ ܶ  (D) ݇	ܶ  

Θ.5 Αχροσσ α φιρστ ορδερ πηασε τρανσιτιον,  τηε φρεε ενεργψ  ισ 

(Α) προπορτιοναλ το τηε τεmπερατυρε 
(Β) α δισχοντινυουσ φυνχτιον οφ τηε τεmπερατυρε 
(Χ) α χοντινυουσ φυνχτιον οφ τηε τεmπερατυρε βυτ ιτσ φιρστ δεριϖατιϖε ισ δισχοντινυουσ 
(D) συχη τηατ τηε φιρστ δεριϖατιϖε ωιτη ρεσπεχτ το τεmπερατυρε ισ χοντινυουσ 

 
Θ.6 Τωο γασεσ σεπαρατεδ βψ αν ιmπερmεαβλε βυτ mοϖαβλε παρτιτιον αρε αλλοωεδ το φρεελψ εξχηανγε 

ενεργψ. Ατ εθυιλιβριυm, τηε τωο σιδεσ ωιλλ ηαϖε τηε σαmε 

(Α)  πρεσσυρε ανδ τεmπερατυρε 
(Β)  ϖολυmε ανδ τεmπερατυρε 
(Χ)  πρεσσυρε ανδ ϖολυmε 
(D)  ϖολυmε ανδ ενεργψ 

 
Θ.7 Τηε εντροπψ φυνχτιον οφ α σψστεm ισ γιϖεν βψ  ܵሺܧሻ ൌ ܽ ଴ܧሺܧ െ  ଴ αρε ποσιτιϖεܧ ሻ  ωηερε ܽ ανδܧ

χονσταντσ. Τηε τεmπερατυρε οφ τηε σψστεm ισ 

(Α)  νεγατιϖε φορ σοmε ενεργιεσ 
(Β)  ινχρεασεσ mονοτονιχαλλψ ωιτη ενεργψ 
(Χ)  δεχρεασεσ mονοτονιχαλλψ ωιτη ενεργψ 
(D)  Ζερο 

 
Θ.8 Χονσιδερ α λινεαρ χολλεχτιον οφ Ν ινδεπενδεντ σπιν 1/2 παρτιχλεσ, εαχη ατ α φιξεδ λοχατιον. Τηε 

εντροπψ οφ τηισ σψστεm ισ (κ ισ τηε Βολτζmανν χονσταντ)

(Α) Ζερο (Β) ܰ݇ (Χ) 
ଵଶ ܰ݇  (D) ܰ݇	݈݊ሺʹሻ 

 
Θ.9 Τηε δεχαψ προχεσσ   ݊ ՜ ା݌ ൅ ݁ି ൅  ҧ௘   ϖιολατεσߥ

(Α) βαρψον νυmβερ (Β) λεπτον νυmβερ (Χ) ισοσπιν  (D) στρανγενεσσ  
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Θ.10 Τηε ισοσπιν (Ι) ανδ βαρψον νυmβερ (Β) οφ τηε υπ θυαρκ ισ 

(Α) Ι=1, Β=1 (Β) Ι=1, Β=1/3 (Χ) Ι=1/2, Β=1  (D) Ι=1/2, Β=1/3  
 
Θ.11 Χονσιδερ τηε σχαττερινγ οφ νευτρονσ βψ προτονσ ατ ϖερψ λοω ενεργψ δυε το α νυχλεαρ ποτεντιαλ οφ 

ρανγε ρ0.  Γιϖεν τηατ,	 cotሺ݇ݎ଴ ൅ ሻߜ 	 ൎ	 െ ߛ݇
 

ωηερε h ισ τηε πηασε σηιφτ, κ τηε ωαϖε νυmβερ ανδ ሺെߛሻ τηε λογαριτηmιχ δεριϖατιϖε οφ τηε δευτερον 
γρουνδ στατε ωαϖε φυνχτιον, τηε πηασε σηιφτ ισ 

(Α) ߜ ൎ 	 െ ௞ఊ െ 	ߜ ଴ (Β)ݎ݇ ൎ െ ఊ௞ െ ߜ ଴ (Χ)ݎ݇ ൎ గଶ െ ߜ ଴  (D)ݎ݇ ൎ െ గଶ െ   ଴ݎ݇

 
Θ.12 Ιν τηε く δεχαψ προχεσσ, τηε τρανσιτιον ʹା ՜ ͵ା, ισ 

(Α) αλλοωεδ βοτη βψ Φερmι ανδ Γαmοω−Τελλερ σελεχτιον ρυλε 
(Β) αλλοωεδ βψ Φερmι ανδ βυτ νοτ βψ Γαmοω−Τελλερ σελεχτιον ρυλε 
(Χ) νοτ αλλοωεδ βψ Φερmι βυτ αλλοωεδ βψ Γαmοω−Τελλερ σελεχτιον ρυλε 
(D) νοτ αλλοωεδ βοτη βψ Φερmι ανδ Γαmοω−Τελλερ σελεχτιον ρυλε 

 
Θ.13 Ατ α συρφαχε χυρρεντ, ωηιχη ονε οφ τηε mαγνετοστατιχ βουνδαρψ χονδιτιον ισ ΝΟΤ ΧΟΡΡΕΧΤ?

(Α) Νορmαλ χοmπονεντ οφ τηε mαγνετιχ φιελδ ισ χοντινυουσ. 
(Β) Νορmαλ χοmπονεντ οφ τηε mαγνετιχ ϖεχτορ ποτεντιαλ ισ χοντινυουσ. 
(Χ) Τανγεντιαλ χοmπονεντ οφ τηε mαγνετιχ ϖεχτορ ποτεντιαλ ισ χοντινυουσ. 
(D) Τανγεντιαλ χοmπονεντ οφ τηε mαγνετιχ ϖεχτορ ποτεντιαλ ισ νοτ χοντινυουσ. 

 
Θ.14 Ιντερφερενχε φρινγεσ αρε σεεν ατ αν οβσερϖατιον πλανε ζ = 0, βψ τηε συπερποσιτιον οφ τωο πλανε ωαϖεσ ܣଵ݁݅ൣ݌ݔ൫ሬ݇ԦଵǤ Ԧݎ െ ൫ሬ݇ԦଶǤ݅ൣ݌ݔଶ݁ܣ ൯൧ ανδݐ߱ Ԧݎ െ  ଶ αρε ρεαλ αmπλιτυδεσ.  Τηεܣ ଵ ανδܣ ൯൧, ωηερεݐ߱

χονδιτιον φορ ιντερφερενχε mαξιmυm ισ 

(Α)	൫ሬ݇Ԧଵ െ ሬ݇Ԧଶ൯Ǥ Ԧݎ ൌ ሺʹ݉ ൅ ͳሻߨ 

(Β)	൫ሬ݇Ԧଵ െ ሬ݇Ԧଶ൯Ǥ Ԧݎ ൌ  ߨ݉ʹ

(Χ)	൫ሬ݇Ԧଵ ൅ ሬ݇Ԧଶ൯Ǥ Ԧݎ ൌ ሺʹ݉ ൅ ͳሻߨ 

(D)	൫ሬ݇Ԧଵ ൅ ሬ݇Ԧଶ൯Ǥ Ԧݎ ൌ  ߨ݉ʹ
 
Θ.15 Φορ α σχαλαρ φυνχτιον ߮ σατισφψινγ τηε Λαπλαχε εθυατιον, ߮׏ ηασ 

(Α) ζερο χυρλ ανδ νον−ζερο διϖεργενχε
(Β) νον−ζερο χυρλ ανδ ζερο διϖεργενχε 
(Χ) ζερο χυρλ ανδ ζερο διϖεργενχε 
(D) νον−ζερο χυρλ ανδ νον−ζερο διϖεργενχε 

 
Θ.16 Α χιρχυλαρλψ πολαριζεδ mονοχηροmατιχ πλανε ωαϖε ισ ινχιδεντ ον α διελεχτριχ ιντερφαχε ατ Βρεωστερ 

ανγλε.  Wηιχη ονε οφ τηε φολλοωινγ στατεmεντσ ισ ΧΟΡΡΕΧΤ ?

(Α) Τηε ρεφλεχτεδ λιγητ ισ πλανε πολαριζεδ ιν τηε πλανε οφ ινχιδενχε ανδ τηε τρανσmιττεδ λιγητ ισ 
χιρχυλαρλψ πολαριζεδ. 

(Β) Τηε ρεφλεχτεδ λιγητ ισ πλανε πολαριζεδ περπενδιχυλαρ το τηε πλανε οφ ινχιδενχε ανδ τηε τρανσmιττεδ 
λιγητ ισ πλανε πολαριζεδ ιν τηε πλανε οφ ινχιδενχε. 

(Χ) Τηε ρεφλεχτεδ λιγητ ισ πλανε πολαριζεδ περπενδιχυλαρ το τηε πλανε οφ ινχιδενχε ανδ τηε τρανσmιττεδ 
λιγητ ισ ελλιπτιχαλλψ πολαριζεδ. 

(D) Τηερε ωιλλ βε νο ρεφλεχτεδ λιγητ ανδ τηε τρανσmιττεδ λιγητ ισ χιρχυλαρλψ πολαριζεδ. 
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Θ.17 Wηιχη ονε οφ τηε φολλοωινγ χοmmυτατιον ρελατιονσ ισ ΝΟΤ ΧΟΡΡΕΧΤ ? Ηερε, σψmβολσ ηαϖε τηειρ 
υσυαλ mεανινγσ. 

(Α) ሾܮଶǡ ௭ሿܮ ൌ Ͳ 
(Β) ൣܮ௫ 	ǡ ௬൧ܮ ൌ ݅԰ܮ௭ 
(Χ) ሾܮ௭	ǡ ାሿܮ ൌ ԰ܮା 
(D) ሾܮ௭	ǡ ሿିܮ ൌ ԰ିܮ 

 
Θ.18 Τηε Λαγρανγιαν οφ α σψστεm ωιτη ονε δεγρεε οφ φρεεδοm θ ισ γιϖεν βψ Λ = ݍߙሶ ଶ ൅ ߙ ଶ, ωηερεݍߚ ανδ ߚ αρε νον−ζερο χονσταντσ. Ιφ ݌௤δενοτεσ τηε χανονιχαλ mοmεντυm χονϕυγατε το θ τηεν ωηιχη ονε οφ 

τηε φολλοωινγ στατεmεντσ ισ ΧΟΡΡΕΧΤ? 

(Α)	݌௤ ൌ ݍߚʹ  ανδ ιτ ισ α χονσερϖεδ θυαντιτψ. 

(Β)	݌௤ ൌ ݍߚʹ  ανδ ιτ ισ νοτ α χονσερϖεδ θυαντιτψ. 

(Χ)	݌௤ ൌ ሶݍߙʹ  ανδ ιτ ισ α χονσερϖεδ θυαντιτψ. 

(D)	݌௤ ൌ ሶݍߙʹ   ανδ ιτ ισ νοτ α χονσερϖεδ θυαντιτψ. 
 
Θ.19 Wηατ σηουλδ βε τηε χλοχκ φρεθυενχψ οφ α 6−βιτ Α/D χονϖερτερ σο τηατ ιτσ mαξιmυm χονϖερσιον τιmε 

ισ  32 ȝσ? 

(Α) 1 ΜΗζ (Β) 2 ΜΗζ (Χ) 0.5 ΜΗζ  (D) 4 ΜΗζ  
 
Θ.20 Α πηοσπηορουσ δοπεδ σιλιχον σεmιχονδυχτορ ( δοπινγ δενσιτψ: 1017/χm3) ισ ηεατεδ φροm 100Χ το 

200Χ. Wηιχη ονε οφ τηε φολλοωινγ στατεmεντσ ισ ΧΟΡΡΕΧΤ ? 

(Α) Ποσιτιον οφ Φερmι λεϖελ mοϖεσ τοωαρδσ χονδυχτιον βανδ 
(Β) Ποσιτιον οφ δοπαντ  λεϖελ mοϖεσ τοωαρδσ χονδυχτιον βανδ 
(Χ) Ποσιτιον οφ Φερmι λεϖελ mοϖεσ τοωαρδσ mιδδλε οφ ενεργψ γαπ
(D) Ποσιτιον οφ δοπαντ  λεϖελ mοϖεσ τοωαρδσ mιδδλε οφ ενεργψ γαπ 

 
Θ.21 Χονσιδερινγ τηε ΒΧΣ τηεορψ οφ συπερχονδυχτορσ, ωηιχη ονε οφ τηε φολλοωινγ στατεmεντσ ισ ΝΟΤ 

ΧΟΡΡΕΧΤ?   
(η ισ τηε Πλανχκ∋σ χονσταντ ανδ ε ισ τηε ελεχτρονιχ χηαργε) 

(Α) Πρεσενχε οφ ενεργψ γαπ ατ  τεmπερατυρεσ βελοω τηε χριτιχαλ τεmπερατυρε 
(Β) Dιφφερεντ χριτιχαλ τεmπερατυρεσ φορ ισοτοπεσ 

(Χ) Θυαντιζατιον οφ mαγνετιχ φλυξ ιν συπερχονδυχτινγ ρινγ ιν τηε υνιτ οφ ቀ௛௘ቁ 

(D) Πρεσενχε οφ Μεισσνερ εφφεχτ 
 
Θ.22 Γρουπ Ι χονταινσ ελεmενταρψ εξχιτατιονσ ιν σολιδσ.  Γρουπ ΙΙ γιϖεσ τηε ασσοχιατεδ φιελδσ ωιτη τηεσε 

εξχιτατιονσ. ΜΑΤΧΗ τηε εξχιτατιονσ ωιτη τηειρ ασσοχιατεδ φιελδ ανδ σελεχτ ψουρ ανσωερ ασ περ χοδεσ 
γιϖεν βελοω. 
  Γρουπ Ι                                                                                            Γρουπ ΙΙ 
(Π) πηονον                                                                              (ι) πηοτον + λαττιχε ϖιβρατιον 
(Θ) πλασmον                                                                            (ιι) ελεχτρον + ελαστιχ δεφορmατιον 
(Ρ) πολαρον                                                                             (ιιι) χολλεχτιϖε ελεχτρον οσχιλλατιονσ 
(Σ) πολαριτον                                                                           (ιϖ) ελαστιχ ωαϖε  
 
Χοδεσ 

(Α) (Π−ιϖ), (Θ−ιιι), (Ρ−ι), (Σ−ιι) 
(Β) (Π−ιϖ), (Θ−ιιι), (Ρ−ιι), (Σ−ι) 
(Χ) (Π−ι), (Θ−ιιι), (Ρ−ιι), (Σ−ιϖ) 
(D) (Π−ιιι), (Θ−ιϖ), (Ρ−ιι), (Σ−ι) 

 
Θ.23 Τηε νυmβερ οφ διστινχτ ωαψσ οφ  πλαχινγ φουρ ινδιστινγυισηαβλε βαλλσ ιντο φιϖε διστινγυισηαβλε βοξεσ 

ισ ____________.  
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Θ.24 Α ϖολταγε ρεγυλατορ ηασ ριππλε ρεϕεχτιον οφ  50δΒ. Ιφ ινπυτ ριππλε ισ 1 mς, ωηατ ισ τηε ουτπυτ ριππλε 

ϖολταγε ιν たς? Τηε ανσωερ σηουλδ βε υπ το τωο δεχιmαλ πλαχεσ. __________ 

 
Θ.25 Τηε νυmβερ οφ σπεχτραλ λινεσ αλλοωεδ ιν τηε σπεχτρυm φορ τηε ͵ ܦ ՜ ͵ ܲଶଶ  τρανσιτιον ιν σοδιυm ισ 

____________.  

   
 

Q. 26 to Q. 55 carry two marks each. 

 
Θ.26 Wηιχη οφ τηε φολλοωινγ παιρσ οφ τηε γιϖεν φυνχτιον Φ(τ) ανδ ιτσ Λαπλαχε τρανσφορm φ (σ) ισ ΝΟΤ 

ΧΟΡΡΕΧΤ? 

(Α) Φ(τ) = h(τ),  φ (σ) = 1 ,   (Σινγυλαριτψ ατ +0) 

(Β) Φ(τ) = 1,  φ (σ) = 
ଵ௦  ,       (σ  > 0) 

(Χ) Φ(τ) = σιν κτ,  φ (σ) = 
௦௦మା௞మ   , (σ > 0) 

(D) Φ(τ) = τ݁௞௧,  φ (σ) = 
ଵሺ௦ି௞ሻమ   , (σ > κ, σ > 0) 

 
Θ.27 Ιφ ܣԦ ανδ ܤሬԦ αρε χονσταντ ϖεχτορσ, τηεν ׏൫ܣԦ ή ሬԦܤ ൈ   Ԧ൯ ισݎ

(Α) ܣԦ ή Ԧܣ ሬԦ (Β)ܤ ൈ  Ԧ  (D) Ζεροݎ ሬԦ (Χ)ܤ
 

Θ.28  ቀ݊ ൅ ଵଶቁ ισ εθυαλ το [Γιϖεν  (ν+1) = ν (ν) ανδ  (1/2) = ξߨ  ] 

(Α) 
௡Ǩଶ೙ 	ξߨ (Β) 

ଶ௡Ǩ௡Ǩ	ଶ೙ ξߨ (Χ) 
ଶ௡Ǩ௡Ǩ ଶమ೙ ξߨ  (D) 

௡Ǩ	ଶమ೙ 	ξߨ  

 
Θ.29 Τηε ρελατιϖιστιχ φορm οφ Νεωτον∋σ σεχονδ λαω οφ mοτιον ισ 

(Α) Φ = 
௠௖ξ௖మି௩మ	   ௗ௩ௗ௧ 

(Β) Φ = 
௠ξ௖మି௩మ௖    

ௗ௩ௗ௧ 

(Χ) Φ = 
௠௖మ௖మି௩మ							  ௗ௩ௗ௧ 

(D) Φ = ݉ ୡమି୴మୡమ    
ௗ௩ௗ௧ 

 
Θ.30 Χονσιδερ α γασ οφ ατοmσ οβεψινγ Μαξωελλ−Βολτζmανν στατιστιχσ. Τηε αϖεραγε ϖαλυε οφ ݁௜	௔ሬԦ	Ǥ		௣Ԧ  οϖερ 

αλλ τηε mοmεντα  ݌Ԧ	οφ εαχη οφ τηε παρτιχλεσ (ωηερε  Ԧܽ  ισ α χονσταντ ϖεχτορ ανδ ܽ ισ ιτσ mαγνιτυδε, m  
ισ τηε  mασσ οφ εαχη ατοm, Τ ισ τεmπερατυρε  ανδ κ ισ Βολτζmανν∋σ χονσταντ)   ισ, 

(Α) Ονε  (Β) Ζερο 
(Χ) ݁ି భమ௔మ ௠ ௞ ்

 (D) ݁ି	యమ௔మ	௠	௞	்
 

 
Θ.31 Τηε ελεχτροmαγνετιχ φορm φαχτορ Φ(θ2) οφ α νυχλευσ ισ γιϖεν βψ,ܨሺݍଶሻ ൌ ݌ݔ݁ ቈെ  ଶʹܳଶ቉ݍ

ωηερε ܳ ισ α χονσταντ. Γιϖεν τηατ  ܨሺݍଶሻ ൌ 	 Ͷݍߨ න sin	ሻݎሺߩ	ݎ݀ݎ ஶݎݍ
଴  න ݀ଷݎ ሻݎሺߩ ൌ ͳ 

ωηερε と(ρ) ισ τηε χηαργε δενσιτψ, τηε ροοτ mεαν σθυαρε ραδιυσ οφ τηε νυχλευσ ισ γιϖεν βψ, 

(Α) ͳȀܳ (Β) ξʹȀܳ (Χ) ξ͵Ȁܳ  (D) ξ͸Ȁܳ  



w
w
w
.c
a
re
e
ri
n
d
ia
.c
o
m

2013                                                                                                                                                                                                            ΠΗΨΣΙΧΣ  �  ΠΗ 

ΠΗ 8/13

 
Θ.32 Α υνιφορm χιρχυλαρ δισκ οφ ραδιυσ Ρ ανδ mασσ Μ ισ ροτατινγ ωιτη ανγυλαρ σπεεδ  αβουτ αν αξισ, 

πασσινγ τηρουγη ιτσ χεντερ ανδ ινχλινεδ ατ αν ανγλε 60 δεγρεεσ ωιτη ρεσπεχτ το ιτσ σψmmετρψ αξισ. Τηε 
mαγνιτυδε οφ τηε ανγυλαρ mοmεντυm οφ τηε δισκ ισ, 

(Α) 
ξଷସ 	ܴܯଶ (Β) 

ξଷ଼ 	ܴܯଶ (Χ) 
ξ଻଼ ܴܯଶ  (D) 

ξ଻ସ 	ܴܯଶ  

 
Θ.33 Χονσιδερ τωο σmαλλ βλοχκσ, εαχη οφ mασσ Μ, ατταχηεδ το τωο ιδεντιχαλ σπρινγσ. Ονε οφ τηε σπρινγσ ισ 

ατταχηεδ το τηε ωαλλ, ασ σηοων ιν τηε φιγυρε. Τηε σπρινγ χονσταντ οφ εαχη σπρινγ ισ κ. Τηε mασσεσ 
σλιδε αλονγ τηε συρφαχε ανδ τηε φριχτιον ισ νεγλιγιβλε. Τηε φρεθυενχψ οφ ονε οφ τηε νορmαλ mοδεσ οφ 
τηε σψστεm ισ, 
 
 
 
 
 
 
 
 
 

(Α) ටଷାξଶଶ 	ට ௞ெ (Β) ටଷାξଷଶ ට௞ெ (Χ) ටଷାξହଶ ට ௞ெ  (D) ටଷାξ଺ଶ 	ට௞ெ  

 
Θ.34 Α χηαργε διστριβυτιον ηασ τηε χηαργε δενσιτψ γιϖεν βψ ߩ ൌ ܳሼߜሺݔ െ ଴ሻݔ െ ݔሺߜ ൅  ଴ሻሽ .  Φορ τηισݔ

χηαργε διστριβυτιον τηε ελεχτριχ φιελδ ατ ሺʹݔ଴ǡ ͲǡͲሻ 

(Α) 
ଶ୕୶ොଽగఢబ௫బమ (Β) 

୕୶ොସగఢబ௫బయ (Χ) 
୕୶ොସగఢబ௫బమ  (D) 

୕୶ොଵ଺గఢబ௫బమ  

 
Θ.35 Α mονοχηροmατιχ πλανε ωαϖε ατ οβλιθυε ινχιδενχε υνδεργοεσ ρεφλεχτιον ατ α διελεχτριχ ιντερφαχε.  Ιφ ෠݇௜ , ෠݇௥ ανδ ො݊ αρε τηε υνιτ ϖεχτορσ ιν τηε διρεχτιονσ οφ ινχιδεντ ωαϖε, ρεφλεχτεδ ωαϖε ανδ τηε νορmαλ 

το τηε συρφαχε ρεσπεχτιϖελψ, ωηιχη ονε οφ τηε φολλοωινγ εξπρεσσιονσ ισ χορρεχτ? 

(Α)	൫ ෠݇௜ െ ෠݇௥൯ ൈ ො݊ ് Ͳ (Β) ൫ ෠݇௜ െ ෠݇௥൯ ή ො݊ ൌ Ͳ 

(Χ)	൫ ෠݇௜ ൈ ො݊൯ ή ෠݇௥ ൌ Ͳ (D) ൫ ෠݇௜ ൈ ො݊൯ ή ෠݇௥ ് Ͳ 
 
Θ.36 Ιν α νορmαλ Ζεεmαν εφφεχτ εξπεριmεντ, σπεχτραλ σπλιττινγ οφ τηε λινε ατ τηε ωαϖελενγτη 643.8 νm 

χορρεσπονδινγ το τηε τρανσιτιον ͷ ଶଵܦ ՜ ͷ ଵܲଵ  οφ χαδmιυm ατοmσ ισ το βε οβσερϖεδ. Τηε 
σπεχτροmετερ ηασ α ρεσολυτιον οφ 0.01 νm. Τηε mινιmυm mαγνετιχ φιελδ νεεδεδ το οβσερϖε τηισ ισ 
(݉௘ ൌ ͻǤͳ ൈ ͳͲିଷଵ	݇݃, ݁ ൌ ͳǤ͸ ൈ ͳͲିଵଽ ܿ ,ܥ ൌ ͵ ൈ ͳͲ଼ ݉Ȁݏ) 

(Α) 0.26 Τ (Β) 0.52 Τ (Χ) 2.6 Τ  (D) 5.2 Τ  
 
Θ.37 Τηε σπαχινγ βετωεεν ϖιβρατιοναλ ενεργψ λεϖελσ ιν ΧΟ mολεχυλε ισ φουνδ το βε 8.44ξͳͲିଶ	 ες.  

Γιϖεν τηατ τηε ρεδυχεδ mασσ οφ ΧΟ ισ 1.14ξͳͲିଶ଺  κγ , Πλανχκ∋σ χονσταντ ισ 6.626 ൈ ͳͲିଷସ	 ϑσ ανδ 
1ες = 1.6ξͳͲିଵଽ	 ϑ. Τηε φορχε χονσταντ οφ τηε βονδ ιν ΧΟ mολεχυλε ισ  

(Α) 1.87 Ν/m (Β) 18.7 Ν/m (Χ) 187 Ν/m  (D) 1870 Ν/m  
 
Θ.38 Α λαττιχε ηασ τηε φολλοωινγ πριmιτιϖε ϖεχτορσ (ιν ⊕):  Ԧܽ ൌ ʹ൫ଔƸ ൅ ෠݇൯,   ሬܾԦ ൌ ʹ൫ ෠݇ ൅ ଓƸ൯,   Ԧܿ ൌ ʹሺଓƸ ൅ ଔƸሻ. 

Τηε ρεχιπροχαλ λαττιχε χορρεσπονδινγ το τηε αβοϖε λαττιχε ισ 

(Α) ΒΧΧ λαττιχε ωιτη χυβε εδγε οφ ቀగଶቁ ⊕1 

(Β) ΒΧΧ λαττιχε ωιτη χυβε εδγε οφ ሺʹߨሻ ⊕1 

(Χ) ΦΧΧ λαττιχε ωιτη χυβε εδγε οφ ቀగଶቁ ⊕1 

(D) ΦΧΧ λαττιχε ωιτη χυβε εδγε οφ ሺʹߨሻ ⊕1 

ΜΜ 
κ κ 
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Θ.39 Τηε τοταλ ενεργψ οφ αν ιονιχ σολιδ ισ γιϖεν βψ αν εξπρεσσιον ܧ ൌ െ ఈ ௘మସగఌబ ௥ ൅ ஻௥వ ωηερε  ισ Μαδελυνγ 

χονσταντ, ρ ισ τηε διστανχε βετωεεν τηε νεαρεστ νειγηβουρσ ιν τηε χρψσταλ ανδ Β ισ α χονσταντ. Ιφ ρ0 ισ 
τηε εθυιλιβριυm σεπαρατιον βετωεεν τηε νεαρεστ νειγηβουρσ τηεν τηε ϖαλυε οφ Β ισ 

(Α)  
ఈ௘మ௥బఴଷ଺గఢబ (Β)  

ఈ௘మ௥బఴସగఢబ  (Χ)  
ଶఈ௘మ௥బభబଽగఢబ  (D)  

ఈ௘మ௥బభబଷ଺గఢబ  

 
Θ.40 Α προτον ισ χονφινεδ το α χυβιχ βοξ, ωηοσε σιδεσ ηαϖε λενγτη ͳͲିଵଶ m. Wηατ ισ τηε mινιmυm 

κινετιχ ενεργψ οφ τηε προτον? Τηε mασσ οφ προτον ισ 1.67 ൈ ͳͲିଶ଻ κγ ανδ Πλανχκ∋σ χονσταντ ισ 
6.63ൈ ͳͲିଷସϑσ. 

 (Α) 1.1 ൈ ͳͲିଵ଻ ϑ (Β) 3.3 ൈ ͳͲିଵ଻ ϑ (Χ) 9.9 ൈ ͳͲିଵ଻ ϑ  (D) 6.6 ൈ ͳͲିଵ଻ ϑ  
 
Θ.41 Φορ τηε φυνχτιον φ (ζ)= 

ଵ଺୸ሺ୸ାଷሻሺ୸ିଵሻమ , τηε ρεσιδυε ατ τηε πολε ζ = 1 ισ (ψουρ ανσωερ σηουλδ βε αν 

ιντεγερ)  ___________.  

 
Θ.42 Τηε δεγενερατε ειγενϖαλυε οφ τηε mατριξ 

  

 ൥ Ͷ െͳ െͳെͳ Ͷ െͳെͳ െͳ Ͷ ൩		ισ (ψουρ ανσωερ σηουλδ βε αν ιντεγερ) _________________ 

 
Θ.43 Χονσιδερ τηε δεχαψ οφ α πιον ιντο α mυον ανδ αν αντι−νευτρινο  ିߨ ՜ ିߤ ൅  ҧఓ  ιν τηε πιον ρεστߥ

φραmε. 	݉గ ൌ ͳ͵ͻǤ͸	ܸ݁ܯȀܿଶ , 		݉ఓ ൌ ͳͲͷǤ͹ Ȁܿଶ ,  ݉ఔܸ݁ܯ ൎ Ͳ 
Τηε ενεργψ (ιν Μες) οφ τηε εmιττεδ νευτρινο, το τηε νεαρεστ ιντεγερ ισ ____________ 

 
Θ.44 Ιν α χονσταντ mαγνετιχ φιελδ οφ 0.6 Τεσλα αλονγ τηε ζ διρεχτιον, φινδ τηε ϖαλυε οφ τηε πατη ιντεγραλ ׯ Ԧܣ ή ݈݀ሬሬሬԦ  ιν τηε υνιτσ οφ (Τεσλα m2) ον α σθυαρε λοοπ οφ σιδε λενγτη (1/ ξʹ ) mετερσ. Τηε νορmαλ το τηε 

λοοπ mακεσ αν ανγλε οφ 60ι το τηε ζ−αξισ, ασ σηοων ιν τηε φιγυρε.  Τηε ανσωερ σηουλδ βε υπ το τωο 
δεχιmαλ πλαχεσ. ____________ 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
Θ.45 Α σπιν−ηαλφ παρτιχλε ισ ιν α λινεαρ συπερποσιτιον 0.8|՛0.6 + ۄ|՝ۄ οφ ιτσ σπιν−υπ ανδ σπιν−δοων στατεσ. Ιφ 

|՛ۄ ανδ |՝ۄ αρε τηε ειγενστατεσ οφ ߪ௭ τηεν ωηατ ισ τηε εξπεχτατιον ϖαλυε, υπ το ονε δεχιmαλ πλαχε, οφ 
τηε οπερατορ 10ߪ௭ + 5ߪ௫ ? Ηερε, σψmβολσ ηαϖε τηειρ υσυαλ mεανινγσ. ____________ 

 
Θ.46 Χονσιδερ τηε ωαϖε φυνχτιον ݁ܣ௜௞௥(ݎ଴/ρ), ωηερε ܣ ισ τηε νορmαλιζατιον χονσταντ. Φορ ρ = 2ݎ଴, τηε 

mαγνιτυδε οφ προβαβιλιτψ  χυρρεντ δενσιτψ υπ το τωο δεχιmαλ πλαχεσ, ιν υνιτσ οφ (ܣଶ԰݇Ȁ݉), ισ 
_____________. 

 Ƹ 60ݖ
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Θ.47 Αν  ν−χηαννελ ϕυνχτιον φιελδ εφφεχτ τρανσιστορ ηασ 5mΑ σουρχε το δραιν χυρρεντ ατ σηορτεδ γατε (ΙDΣΣ) 

ανδ 5ς πινχη οφφ  ϖολταγε (ςΠ).  Χαλχυλατε τηε δραιν χυρρεντ ιν mΑ φορ α γατε−σουρχε ϖολταγε (ςΓΣ) οφ  
2.5ς.  Τηε ανσωερ σηουλδ βε υπ το τωο δεχιmαλ πλαχεσ. ________________ 

 
 
 

Common Data Questions 

Common Data for Questions 48 and 49: Τηερε αρε φουρ ενεργψ λεϖελσ Ε, 2Ε, 3Ε ανδ 4Ε  (ωηερε Ε >0). 
Τηε χανονιχαλ παρτιτιον φυνχτιον οφ τωο παρτιχλεσ ισ , ιφ τηεσε παρτιχλεσ αρε 

 

Θ.48 τωο ιδεντιχαλ φερmιονσ  
 
(Α)	݁ିଶ	ఉ	ா ൅ 	 ݁ିସ	ఉ	ா ൅ 	 	݁ି଺	ఉ	ா ൅ ݁ି଼ ఉ ா  
(Β)	݁ିଷ	ఉ	ா ൅ 	 ݁ିସ	ఉ	ா ൅ 	 ʹ	݁ିହ	ఉ ா ൅ ݁ି଺ ఉ ா ൅ ݁ି଻ ఉ ா 
(Χ)	ሺ݁ିఉ	ா ൅ 	 ݁ିଶ	ఉ	ா ൅ 	݁ିଷ	ఉ	ா൅ ݁ିସ ఉ ாሻଶ 
(D)		݁ିଶ	ఉ	ா െ 	݁ିସ	ఉ	ா ൅ 	 	݁ି଺	ఉ ா െ ݁ି଼ ఉ ா  

 
 
Θ.49 τωο διστινγυισηαβλε παρτιχλεσ  

(Α)	݁ିଶ	ఉ	ா ൅ 	 ݁ିସ	ఉ	ா ൅ 	 	݁ି଺	ఉ	ா ൅ ݁ି଼ ఉ ா  
(Β)	݁ିଷ	ఉ	ா ൅ 	 ݁ିସ	ఉ	ா ൅ 	 ʹ	݁ିହ	ఉ ா ൅ ݁ି଺ ఉ ா ൅ ݁ି଻ ఉ ா 
(Χ)	ሺ݁ିఉ	ா ൅ 	݁ିଶ	ఉ	ா ൅ 	 ݁ିଷ	ఉ	ா൅ ݁ିସ ఉ ாሻଶ 
(D)		݁ିଶ	ఉ	ா െ 	 ݁ିସ	ఉ	ா ൅ 		݁ି଺	ఉ ா െ ݁ି଼ ఉ ா  

 
 
Common Data for Questions 50 and 51:  Το τηε γιϖεν υνπερτυρβεδ Ηαmιλτονιαν 
 ൥ͷ ʹ Ͳʹ ͷ ͲͲ Ͳ ʹ൩, 

 
 
ωε αδδ α σmαλλ περτυρβατιον γιϖεν βψ 
ߝ  ൥ͳ ͳ ͳͳ ͳ െͳͳ െͳ ͳ ൩ǡ 

 
ωηερε ߝ ισ α σmαλλ θυαντιτψ.  
 
 

Θ.50 Τηε γρουνδ στατε ειγενϖεχτορ οφ τηε υνπερτυρβεδ Ηαmιλτονιαν ισ  
 

(Α) (1/ξʹǡ	1/ξʹǡ Ͳ) (Β) (1/ξʹǡ 1/ξʹǡ Ͳ) (Χ) (0,0,1) (D) (1,0,0)  
 
 

 
Θ.51 Α παιρ οφ ειγενϖαλυεσ οφ τηε περτυρβεδ Ηαmιλτονιαν, υσινγ φιρστ ορδερ περτυρβατιον τηεορψ, ισ 

(Α) 3+2i, 7+2i (Β) 3+2i, 2+i (Χ) 3, 7+2i  (D) 3, 2+2i 
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Linked Answer Questions 

Statement for Linked Answer Questions 52 and 53: Ιν τηε Σχηmιδτ mοδελ οφ νυχλεαρ mαγνετιχ mοmεντσ, 
ωε ηαϖε, 
 

Ԧߤ     ൌ ௘԰ଶெ௖ ൫݃௟ Ԧ݈ ൅ ݃௦ Ԧܵ൯ 

ωηερε τηε σψmβολσ ηαϖε τηειρ υσυαλ mεανινγ 
 

 
Θ.52 Φορ τηε χασε ܬ ൌ ݈ ൅ ͳȀʹ, ωηερε ܬ ισ τηε τοταλ ανγυλαρ mοmεντυm, τηε εξπεχτατιον ϖαλυε οφ Ԧܵ ή  Ԧ ινܬ

τηε νυχλεαρ γρουνδ στατε ισ εθυαλ το, 
 

(Α) ሺܬ െ ͳሻȀʹ (Β) ሺܬ ൅ ͳሻȀʹ (Χ)  ܬȀʹ (D)  െܬȀʹ 
 

 
Θ.53 Φορ τηε Ο17 νυχλευσ (Α=17, Ζ=8), τηε εφφεχτιϖε mαγνετιχ mοmεντ ισ γιϖεν βψ, 

Ԧ௘௙௙ߤ       ൌ ௘԰ଶெ௖   , Ԧܬ݃
ωηερε ݃ ισ εθυαλ το, (݃௦ ൌ ͷǤͷͻ  φορ προτον ανδ   3.83 φορ νευτρον)  

(Α) 1.12 (Β) 0.77 (Χ)  1.28 (D)  1.28 
 

 
Statement for Linked Answer Questions 54 and 55: Χονσιδερ τηε φολλοωινγ χιρχυιτ  
 

 

 

 

 

 

 

 

 

 

 

 

 

 

Θ.54 Φορ τηισ χιρχυιτ τηε φρεθυενχψ αβοϖε ωηιχη τηε γαιν ωιλλ δεχρεασε βψ 20 δΒ περ δεχαδε ισ  
 

(Α) 15.9 κΗζ  (Β) 1.2 κΗζ (Χ)  5.6 κΗζ (D) 22.5 κΗζ 

 

 
Θ.55 Ατ 1.2κΗζ τηε χλοσεδ λοοπ γαιν ισ 

(Α) 1 (Β) 1.5 (Χ)  3 (D)  0.5 
 
  

1κっ 

2κっ

ς(ουτ) 

1000πΦ 

ς(ιν) 

 

10κっ 
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General Aptitude (GA) Questions 

Q. 56 – Q. 60 carry one mark each. 

 
Θ.56 Α νυmβερ ισ ασ mυχη γρεατερ τηαν 75 ασ ιτ ισ σmαλλερ τηαν 117. Τηε νυmβερ ισ: 

(Α) 91 (Β)  93 (Χ)  89 (D)  96 
 
Θ.57 Τηε προφεσσορ ορδερεδ το τηε στυδεντσ το γο ουτ οφ τηε χλασσ. 

        Ι                     ΙΙ                     ΙΙΙ                         Ις 
Wηιχη οφ τηε αβοϖε υνδερλινεδ παρτσ οφ τηε σεντενχε ισ γραmmατιχαλλψ ινχορρεχτ? 

(Α) Ι (Β) ΙΙ (Χ)  ΙΙΙ (D)  Ις 
 
Θ.58 Wηιχη οφ τηε φολλοωινγ οπτιονσ ισ τηε χλοσεστ ιν mεανινγ το τηε ωορδ γιϖεν βελοω: 

 
Πριmεϖαλ 

(Α) Μοδερν (Β) Ηιστοριχ 

(Χ) Πριmιτιϖε (D) Αντιθυε  
 
Θ.59 Φριενδσηιπ, νο mαττερ ηοω _________ιτ ισ, ηασ ιτσ λιmιτατιονσ. 

(Α) χορδιαλ  
 
(Β) ιντιmατε 
 
(Χ) σεχρετ 
 
(D) πλεασαντ  

 
Θ.60 Σελεχτ τηε παιρ τηατ βεστ εξπρεσσεσ α ρελατιονσηιπ σιmιλαρ το τηατ εξπρεσσεδ ιν τηε παιρ: 

Medicine: Health  

(Α) Σχιενχε: Εξπεριmεντ (Β) Wεαλτη: Πεαχε 
(Χ) Εδυχατιον: Κνοωλεδγε (D) Μονεψ: Ηαππινεσσ 

 

Q. 61 to Q. 65 carry two marks each. 

 
Θ.61 Ξ ανδ Ψ αρε τωο ποσιτιϖε ρεαλ νυmβερσ συχη τηατ ʹܺ ൅ ܻ ൑ ͸ ανδ ܺ ൅ ʹܻ ൑ ͺ. Φορ ωηιχη οφ τηε 

φολλοωινγ ϖαλυεσ οφ ሺܺǡ ܻሻ τηε φυνχτιον ݂ሺܺǡ ܻሻ ൌ ͵ܺ ൅ ͸ܻ ωιλλ γιϖε mαξιmυm ϖαλυε? 

(Α) (4/3, 10/3) 
 
(Β) (8/3, 20/3) 
 
(Χ) (8/3, 10/3) 
 
(D) (4/3, 20/3) 

 
Θ.62 Ιφ ȁͶܺ െ ͹ȁ ൌ ͷ τηεν τηε ϖαλυεσ οφ ʹ ȁܺȁ െ ȁ െ ܺȁ ισ: 

(Α)  2, 1/3 (Β) 1/2, 3 (Χ)  3/2, 9 (D)  2/3, 9 
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Θ.63 Φολλοωινγ ταβλε προϖιδεσ φιγυρεσ (ιν ρυπεεσ) ον αννυαλ εξπενδιτυρε οφ α φιρm φορ τωο ψεαρσ − 2010 
ανδ 2011.  
 

Category 2010 2011 

Raw material 5200 6240 

Power & fuel 7000 9450 

Salary & wages 9000 12600 

Plant & machinery 20000 25000 

Advertising 15000 19500 

Research & Development 22000 26400 

 
Ιν 2011, ωηιχη οφ τηε φολλοωινγ τωο χατεγοριεσ ηαϖε ρεγιστερεδ ινχρεασε βψ σαmε περχενταγε?   

(Α) Ραω mατεριαλ ανδ Σαλαρψ & ωαγεσ  
 
(Β)  Σαλαρψ & ωαγεσ ανδ Αδϖερτισινγ 
 
(Χ) Ποωερ & φυελ ανδ Αδϖερτισινγ 
 
(D) Ραω mατεριαλ ανδ Ρεσεαρχη & Dεϖελοπmεντ  

 
Θ.64 Α φιρm ισ σελλινγ ιτσ προδυχτ ατ Ρσ. 60 περ υνιτ. Τηε τοταλ χοστ οφ προδυχτιον ισ Ρσ. 100 ανδ φιρm ισ 

εαρνινγ τοταλ προφιτ οφ Ρσ. 500. Λατερ, τηε τοταλ χοστ ινχρεασεδ βψ 30%. Βψ ωηατ περχενταγε τηε πριχε 
σηουλδ βε ινχρεασεδ το mαινταινεδ τηε σαmε προφιτ λεϖελ.  

(Α) 5 (Β) 10 (Χ)  15 (D)  30 
 
Θ.65 Αβηισηεκ ισ ελδερ το Σαϖαρ. 

Σαϖαρ ισ ψουνγερ το Ανσηυλ. 
 
Wηιχη οφ τηε γιϖεν χονχλυσιονσ ισ λογιχαλλψ ϖαλιδ ανδ ισ ινφερρεδ φροm τηε αβοϖε 
στατεmεντσ?   
  

(Α) Αβηισηεκ ισ ελδερ το Ανσηυλ 
 
(Β) Ανσηυλ ισ ελδερ το Αβηισηεκ 
 
(Χ) Αβηισηεκ ανδ Ανσηυλ αρε οφ τηε σαmε αγε 
 
(D) Νο χονχλυσιον φολλοωσ 

 
 

END OF THE QUESTION PAPER 
 


